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General Instructions:
()] This question pa@sists of four sectidnsB, C, and D. SectionA

contains 5 questions of 1 mark each. Seddas of 10 questions of 2 marks
of 10 questions of 3 marks each and Sediias of 3
arks each.

ns are compulsory.

no overall choice. However, an internal choice has been provided in
guestion of 2 marks, one question of 3 marks and three questions of 5
arks weightage. Attempt only one of the choices in such questions.

(iv)  Question numbers 1 to 5 are to be answered in one word or one sentence
each.
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(v)  Question numbers 6 to 15 are to be answered in approximately 20-30 words
each.
(vi)  Question numbers 16 to 25 are to be answered in approximately 30-50 words
each.
(vii)  Question numbers 26 to 28 are to be answered in approximately 80-120
words each.
qAr 3@ :
() OFTIFATIRGER, T, qNE &/ TEH F 5 §97 & 7T U0
g @ET H 10 397 & o7 3131 1% &, @2/ 7 10 §97 & forap i
& T @ T F 3 397 & o gia-ura o7 &
() @t go7 sifvard &) @
(i) P T FIF-fAHAT (ST q785G) TqAeET T& £ T T
ToT T, 3 ST aret U FIT H ST 5 Sl ard aHt il TIT-[AH
STy &1 U7 gl 4 #ad UH-UF fameq @1
(V) Fo7 & 1 & 5 ak & FdP T TH-TFH T qiFd q g
(V) F97 G@r 6 G 15 G% & FAdH IAT 0 1=l 7 qifag
(Vi) 797 G&T 16 G 25 % T FAH 30 & 50 9=l 4 FHAT |
(Vi) F9T GEr 26 T 28 T # 80 & 120 9=l 7 FHAT |
SECTION - A
qus - A
4
1. What | ance of the epiglottis in human body ? 1

H ufyited (F9ow) & FT HEd © ?

t happens to the glycogen concentration in the liver cells when the
evel of adrenaline increases in the blood stream of humans ? 1

Ig TEEl B THUT H U @ WX 9 Il & a9 Ihd BiIentsi
¥ TSR WG W OFET Bl ' 7
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3. Mention the scientific term used for modified form of reproduction in
which seeds are formed without fusion of gametes. 1

T & I WUARd @ET & Y ISe g gasy ad el & gaad
& for @9 e W ¥

4. What does ecological niche of an organism represent ? 1

fRdl ST & uRRafos = (Feea) & &0 o & 2

5. It was diagnosed by a specialist that the immune system of y
of a patient has been suppressed. Name the disease the p@atient fias been

suffering from and its causative agent. 1
U fIus 7 WS § gar @mer 6 AW & R A ERSHEK
W T W M AT F U & SEE AW wd ERECAL]
qEs w AW fafEy |
SECTIO@
6. Where are casparian strips locaged a plant body and what are they
made up of ? Mention its fun [ 2

What is respirati tiept (RQ) ? Under what conditions will the value
of RQbe1? Ex@ 2

Jieeai ®el R feud & € o) 9 fog <fier b S A
|

Srear
(RQ) & #ed & 7 foh zamell § RQ W9 1 BN ? |HSET |

at is resting membrane potential of a neuron ? What is the role of
sodium potassium pumps in maintaining it ? 2

R (@EEE) w frm e fova w2 § o2 3 @R e @
H |ifege-dielem o @ ;T e gl g 2
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10.

11.

12.

13.

Draw a diagram of external view of a human brain. Label the frontal
lobe, temporal lobe, occipital lobe and cerebellum.

Mg qi&dwh & 9@l 399 1 SE 912U | 3HH Wied i (3@ qifd),
TR W9 (@ urfa), sAfferied wid (Sgeurd urfa) qem ddded (SHideh)
HT AR HIT |

How is the milk production regulated by hormones in human female ? Explai

L | A Bt B e ) B | A C B o B o O O B o

Explain the significance of the auxin / cytokinin ratio in plant ti culgre.

IR Sdd Gade § SR/ AEmET ST A

What does S-shaped pattern of popul i@h represent ? How is
J-shaped pattern different from it and wh

TEET gl b S-AH & Jfed & ? JATHI T 9fey T8qd

8 yBR 9= gar & R &= e

What does secondar%@ty in an ecosystem indicate ? List any
dugtivi

two factors by whic is limited in aquatic ecosystems.

RIEGERRERIDET T T 7 HIE TH A BREb FAGS BT ForTeh
[ H aredhar Hifid & AR |

qey SR H ared (fawmy) fohe YR 9a9T A © SR I8e Hia - % &
S E 2 UE Big 31 At gay SMe aR aaE ud 1Y ¥ g 9§ 6
SIS
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14. In what form do plants absorb calcium from the soil ? List any two
calcium deficiency symptoms in plants. 2

qre gaT 7 § dieqaw g ey 4 sEanfud wd € 2 ol § {6l & hieaaq
9T A& bl FAT I1ET |

15. What is vernalisation ? How is the process of vernalisation advantage
to plants ? 2

TR b Fed & ? aGaIRoT @l gishar Wel &% fo fohe R are

N ©
SECTION - C 4
-@.Ug = H Q
16. Explain the theory of capillarity of water %a lon in plants. Can

the theory explain translocation of watﬁ m tall trees ? Give one

reason. 3
qrel § T TR BT b www%mlOOmaﬁ
gell | STl & I EbT ? Uh HNRY Iq13T |

17. What is symbiotic tlon ? Name the two protein components
needed for this pr lain their role. 3

List the modes of heterotrophic nutrition in plants. Explain any

ing one example of each. 3

feerdimtor 5 #ed & 7 39 uihar & fow smavasd & 9N
a9 fafgw | I g qHeEy |

AAqT

aref § faerardt drer a6 fafver faferat geias i) s 9 R & fafer
P IR Th-Ueh IEEXU Gy TR T |
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18. What is biological magnification ? Explain how DDT as a water pollutant
undergoes biological magnification ?

S STae fFe ®ad & 7 U 9 Ugue & &9 § DDT &7 fohe YaR Sfaems
AL BT &, T9SRT 2

19. What are exotic species ? Explain with the help of two examples haw
the exotic species disturb the native species of an ecosystem ? 3

fRye ofishd fFe wed € ? & e I GHemsy fh fREr
¥ foeeer ®efi 9 399 o o e yeR TEEEl Yo Bl & ?

\ 2
20. In what forms are nitrogenous wastes excrete @ humans and
aguatic turtles respectively ? Why so, explain ? 3
uferdl, wEEl qem T wgel HORAST R RIS
IS BT © ¢ Ul wl, §HEEY ? &

21. A patient was complaining of Tfgequept urination, excessive thirst and
dehydration. His fasting gliiCoSe el was found to be normal. Name
the disease and its cauge. Explain why are such symptoms occurring in
this patient ?

Tk T bl SAeal-

THET @IS
qg AT

, Tt A qer i # fReEd 2 |
. UTET T | AT AT AW UG SRl BROT Iq15T |
w3l # T o A E

22. ith the help of a suitable example for each of the following

. (i) morphallaxis (ii) epimorphosis and (iii) compensatory
neration. 3
g H F yIh % {0 Uh-UH IEET TR AT 7 gLy

(i) stiaeer (i) siivreiarer, qer (i) afaqes gTegwad |
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23. Describe the polygonum type of embryo sac. Why is it generally referred
to as monosporic ? 3
AN 9BR &% YO I HT d9 DT | T4 AEFI: TR il
FET AT T

24. What is obsessive-compulsive disorder ? How is it different fro
borderline personality disorder ? What are the two most com
obsessions that affect adolescents ? 3

Ssafaa-mrataa feaeie (g q=uRa a) 59 #ed & 7 I®
Tt feaeiier (dmmar afha o) ¥ fhg R i g 2 .
Wﬁﬁﬁwﬁquﬁuﬁaﬁqﬁ@;

25.  What is human leucocyte antigen complex ? its role in organ
transplantation. 3
qHa QAdT] U A /T BT § 2 ST TEH YR THSEY |

26. Why do G plants have phic chloroplasts ? Explain the different
steps involved in hetic carbon cycle in such plants. 5

ctron transport system. Where does it occur in a
and what is the role of oxygen in it ? 5

FARRE (BRAeae) H eid € 7 Ug drei § C, Fehrer-Headt
H Mfed Ot aor qaemEn |

SEIE

S URde-as HHSET | HISARUgdi ¥ I8 hel ¥ el & J9T 399
SHTRAIST T T i &
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27. Explain the events that occur in the human heart during ventricular systole
and ventricular diastole in a cardiac cycle. Name the heart sounds and
mention how they are produced.

OR

What is oxygen-haemoglobin dissociation curve ? Describe the role of
red blood cells in the transport of oxygen and carbon dioxide by blood.

T ged & Wi’ U g5 9% 8 ad Y aor e sefdfaes & R
AT AT BT AU BT | &G At & 919 fafay ofR Ja=y 6 T &y

o e 2 <:
ST

S-SR BT a% fh ®ed § 2 T @R ot a?amé:r
STATREISS & UREST § T Th RIQIHSAT hl YHeHT

28.  Briefly explain the principle, procedure and @

What is somatic hybridisation in the various steps involved in
the process. Mention any tw omatic hybridisation.
ELISA &1 fagr, zq! [ SHE YT T GET H SRl
I |

A4
FHIAh HHIOT a@ ? 3H Ufehar | [iEd fafys =)or q9HE0 ) wiidw
RO JUIRT TR |
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